B APNaLS_4eALA

UEILA40_LZA4E Y

[

0.5

alphal3_4eX1X:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum

delta46_12X4eY:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum

alpha4b_4ey4ay

6400

3399.5

6399

3398.5

6398

3397.5

6397

3396.5

6396

alpha46_4eY4aY:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

run:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

deltal3_lzx4ex

segment

o
2

25

15

05

deltal3_12X4eX:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum
segment:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6398}

P -
e e e eeeeamaenaaaaan .-

6142 61425 6143 6143.5 6144
cyclenum

usl_4eY:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

usl_12X:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144

cyclenum

usl_sex

6400

3399.5

6399

3398.5

6398

5397.5

6397

3396.5

6396

usl_4eX:cyclenum {run == 6398}

[

6142 6142.5 6143 6143.5 6144
cyclenum

run:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 6398}

P -
e e e eeeeamaenaaaaan .-

6142 61425 6143 6143.5 6144
cyclenum

usr_4eY:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

usr_12X:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144

cyclenum

usr_aex

6400

3399.5

6399

3398.5

6398

5397.5

6397

3396.5

6396

usr_4eX:cyclenum {run == 6398}

[

6142 6142.5 6143 6143.5 6144
cyclenum

run:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum



usl_caoill:cyclenum {run == 6398}

28472

8471.5

28471

8470.5

28470

6142 61425 6143 6143.5 6144
cyclenum

usl_caoil6:cyclenum {run == 6398}

=

usi_culo

6142 61425 6143 6143.5 6144

cyclenum

5776

>775.5

5775

57745

5774

usl_coil/

usl_coil3:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

usl_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144

cyclenum

7002

7001.5

7001

7000.5

7000

6400

3399.5

6399

3398.5

6398

5397.5

6397

3396.5

6396

usl_coil4:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

run:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum



6951.5

26952

6952.5

26953

usr_coill:cyclenum {run == 6398}

SOV S T S A S I
’ 6142 61425 6143 6143.5 6144
cyclenum

usI_coio

1

usr_coil6:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

5032.2 F

5032.4

5032.6 F

5032.8

-5033 F

5033.2

5033.4

5033.6

5033.8

-5034

5034.2 F

5034.4

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

usr_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

7205.8

7205.6
7205.4 F
7205.2 F

7205 F

7204.8
7204.6

7204.4

7204.2 F
7204 F
7203.8 F

7203.6 |

6400

3399.5

6399

3398.5

6398

5397.5

6397

3396.5

6396

usr_coil4:cyclenum {run == 6398}

el by e b v by 1y
6142 6142.5 6143 6143.5 6144
cyclenum

run:cyclenum {run == 6398}

S A I RPN AR
6142 6142.5 6143 6143.5 6144
cyclenum



-458.5

—-459

-459.5

-460

-460.5

—469

-469.5

-470

-470.5

-471

1X_coill:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

4eX_coill:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

1-71.5

-72.5

-735

-86.2

-86.4

-86.6

1X_coil3:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

4eX_coil3:cyclenum {run == 6398}
P I R R AP I
6142 6142.5 6143 6143.5 6144
cyclenum

1X_coll/

4eXx_coll/

[

05

1

1X_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

4eX_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum




176

175.5

175

174.5

174

188

187.5

186.5

186

4aY_coild:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

4eY_coil4:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

4ay_collb
=

0.5

4eY_collb
=

0.5

4aY_coil6:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum

4eY_coil6:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144

cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

4eY_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum




-243.5

—244

-244.5

—245

-245.5

1ZA_CUNO

12X_coill:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144

cyclenum

12X_coil6:cyclenum {run == 6398}

1

6142 61425 6143 6143.5 6144
cyclenum

-82.5

-83

-83.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 6398}

6142 61425 6143 6143.5 6144
cyclenum

12X_coil7:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

| 1

05

12X_col4

6400

3399.5

6399

3398.5

6398

5397.5

6397

3396.5

6396

12X_coil4:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum

run:cyclenum {run == 6398}

6142 6142.5 6143 6143.5 6144
cyclenum
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